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0 0 1


�
�	
�

� ��� �������� �� ������ó
 Rx,α, Ry,φ, Rz,θ �� ��� ����� ��������� �� ������ó


�á������� �� ��� �� ����� �������� �� �������
�� �� ����� ��á��� �
 �� ������ 
���

�� �������� �� ������ó
 ���������

���� �������
��� �
� �����
��� �� �������
�� �
���� �������� �� ������� �� �������


���� �� ������
��� OXYZ� ��� �������� �� ������ó
 �á����� �� �����
 �����������

�
��� �í� ������ � ��� ��� �������������
�� �� �������� 
� ��
 ��
���������� ��


�������� ��
������ �� ����
 �
 �� ���� �� �������
 ������ �������
��� �� ����� ���

�� ����� �������� �
� ������ó
 �������� �� �	� OX ��
 �
 á
���� α� ������� ��

�
� ������ó
 ��
 á
���� θ� ��
 �������� �� �	� OZ� ��� ������ �
� ������ó
 ��


�������� �� �	� OY ��
 �
 á
���� φ� 
� ������ ��� ������� �� �������
��� �����



���í���� 
� ������ ��� ���� 	�

������ 
��� �������
����ó
 ��á��� �� ��� �������� �� ������ó
�

�����
��� �� �������
�� �� �� ������
���

R= Ry,φRz,θRx,α =


Cφ 0 Sφ

0 1 0

−Sφ 0 Cφ



Cθ −Sθ 0

Sθ Cθ 0

0 0 1



1 0 0

0 Cα −Sα

0 Sα Cα



=


CφCθ SφSα−CφSθCα CφSθSα+SφCα

Sθ CθCα −CθSα

−SφCθ SφSθCα+CφSα CφCα−SφSθSα


�
�	��



���í���� 
� ������ ��� ���� 
�

��
��
Cφ ≡ cosφ, Sφ ≡ senφ,

Cθ ≡ cosθ, Sθ ≡ senθ,

Cα ≡ cosα, Sα ≡ senα,

����á� �� ����� �������� �� ��� �	�� ���
������� ��� ������� �� ������
��� OXYZ� ��

������� �� ������
���� ��� ���� ����
�� OUVW ����� �����é
 ����� �������� ��

�� ������ �	� ���
������ �
 ���� ����� �� ������ �� ������ó
 �������
�� � ���������

�� ����� ����
�� �� ��� ������
��� ������ ����

	�� 

�������
�� ����� �������� �� ������
���� ��
 ���
����
���� �� ���í ��� ��

������ �� ������ó
 �� �
� ������ ���
����� I3�


�� �� �� ������� �� ������
���� ��������� OUVW ���á ����
�� �������� �� �
�

�� ��� �	�� ���
������� ��� ������� OXYZ� �
��
��� �������������� �� ������

�� ������ó
 ������ ��������
��� ��� �
� ������ �� ������ó
 �á���� ����������

��� �� �� ������� �� ������
���� ����
��OUVW ���á ������ �������� �� �� ������

�	� ���
������ �
��
��� ��������������� �� ������ �� ������ó
 ������ ��������
�

��� ��� �
� ������ �� ������ó
 �á���� ����������

�� ������ �� ������ó
 ��
 �������
����ó
 �� á
����� �� �����


� ����� ��������� ���� �� �������
����ó
 ��� �������
�� �� �
 ������ �í����

��������� ������ ��������
��� ���� ��
 
��������� 
���� �����
��� ���� ���������

����������
�� ���� ������ó
� ���� ��
���� ���������
�� � �
 ��
	�
�� �������

�� �� ������
���� ��
����������� ���� ��
	�
�� �� ������
���� ����� ���������

�� ����
����ó
 �� �
 ������ �í���� �
 ������ó
 � ����é� �� �
 ������� �� �����

��
���� �� ������
��� � ����� ��� �������
���� �����
�� φ� θ � ψ ��� ��
 ���

�������� á
����� �� ������ ��
��� ��� á
����� �� ����� ��������
 �� ����
����ó


�� �
 ������ �í���� ��
 �������� � �
 ������� �� ������
���� �� ������
��� �	��

��� ������ ����� ������
��� �� á
����� �� ������ 
�� ���� �������
�����
�� �á�

���������� �� ��� á
����� �� ����� �� �������
 �
 �� ����� 
�	�
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� ������ ��� ���� 
	

����� 
�	� ���� ����� �� �������
����ó
 �� á
����� �� ����� ���

������ ������� �� ����
�� ������� �� ������ �������� �������ó
�

á
����� �� ����� á
����� �� ����� ��������ó
 � ����

�����
��� φ �������� ��� �	� OZ φ �������� ��� �	� OZ ψ �������� ��� �	� OX

�� θ �������� ��� �	� OU θ �������� ��� �	� OV θ �������� ��� �	� OY

�������
�� ψ �������� ��� �	� OW ψ �������� ��� �	� OW φ �������� ��� OZ

�
 �������
�� ������ó���� ����� ��� �������� �������� �� ������ ������� �� ���

á
����� �� ����� �������
����� �
 �� ����� 
�	� 
� �������
����ó
 �� ����� �����

���
�� �� ���ú
��
�� 
������� ���� á
����� �������
��� 
� ������ 
�� �������

��� �����
��� �� �������
�� ��������
���
����

	�� ������ó
 ��
 �������� �� �	� OZ� ��
 �
 á
���� φ� Rz,φ


�� ������ó
 ��
 �������� �� �	� OU� ��
 �
 á
���� θ� Ru,θ

��� ������ó
 ��
 �������� �� �	� OW� ��
 �
 á
���� ψ� Rw,ψ


�� �������� �� ������ó
 ���� ��� á
����� �������
�� ��
�

R= Rz,φRu,θRw,ψ =


Cφ −Sφ 0

Sφ Cφ 0

0 0 1



1 0 0

0 Cθ −Sθ

0 Sθ Cθ



Cψ −Sψ 0

Sψ Cψ 0

0 0 1



=


CφCψ−SφCθSψ −CφSψ−SφCθCψ SφSθ

SφCψ+CφCθSψ −SφSψ+CφCθCψ −CφSθ

SθSψ SθCψ Cθ


�
�	��

���� ����� �� �������
����ó
 �� á
����� �������
�� �� �� ������ �� ������ó
 Rφ,θ,φ�

�������� �
 �� ������ó
 
�	�� �� ��
 �������� �� ������� �� ������
��� �� ����

�������
�� �
� ������ó
 �
 ��� �	�� ���
������� �� �� ������
�� ������ ������ó
 ��


�������� �� �	� OZ ��
 �
 á
���� ψ ������� �� �
� ������ó
 �� �
 á
���� θ �

����é� ��� �	� OX � �
����
�� �
� ������ó
 ����� �� �	� OZ ��
 �
 á
���� φ�


� ������ 
�	�� �������
�� �� ����
�� ������� �� �������
�����
�� �� á
����� ��

����� �φ,θ,ψ�� �� ���� ��������
�� � ��� ������
��� �������
���

	�� ������ó
 ��
 �������� �� �	� OZ� ��
 �
 á
���� φ� Rz,φ
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������ 
��� ������ ������� �� á
����� �������
�� ����


�� ������ó
 ��
 �������� �� �	� OV� ��
 �
 á
���� θ� Rv,θ

��� ������ó
 ��
 �������� �� �	� OW� ��
 �
 á
���� ψ� Rw,ψ


� �������
����ó
 �
 ����� ��������� �� ����� �������
�� ���

R= Rz,φRv,θRw,ψ =


Cφ −Sφ 0

Sφ Cφ 0

0 0 1



Cθ 0 Sθ

0 1 0

−Sθ 0 Cθ



Cψ −Sψ 0

Sψ Cψ 0

0 0 1



=


CφCψ−SφCθSψ −CφSψ−SφCθCψ SφSθ

SφCψ+CφCθSψ −SφSψ+CφCθCψ −CφSθ

SθSψ SθCψ Cθ


�
�	
�


� ������ �� ������ó
 �������ó
 
�	
� �� á
����� �� ����� �Rφ,θ,ψ�� �����é
 ��

����� ���������� ��
 �������� � ��� �	�� ��� ������� �� ������
���� �� ������
����

�
� ������ó
 ��
 �������� �� �	� OZ ��
 �
 á
���� ψ ������� �� �
� ������ó
 ��


á
���� θ ����� �� �	� OY � �
����
�� �
� ������ó
 ����� �� �	� OZ ��
 �
 á
����
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�

������ 
�	�� ����
�� ������� �� á
����� �������
�� ����

φ�

�� ������ ��
	�
�� �� �������
�����
�� �� á
����� �� ����� ��������� �
 �� ���

��� 
�	� �����
���
 � ��� �������
�� ��� �����
 ���� 
����� ����� �������ó
 � ����

�����ó
� ��
������ ��� �� 
���
������� �
 �
��é� ���� ����� ������ ��� ������

���� ��
	�
�� �� ��������� ���
�������
�� �
 �� �
��
���í� ����
á����� ���� ��

�
á����� �� ���í����� ���������� � ��������
�� � �� �����
��� �� ��� ������
��� ���

�����
���

	�� ������ó
 ��
 �������� �� �	� OX� ��
 �
 á
���� ψ� Rx,ψ ��������
�� � ��

��������ó



�� ������ó
 ��
 �������� �� �	� OY� ��
 �
 á
���� θ� Ry,θ ��������
�� � ��

�������ó


��� ������ó
 ��
 �������� �� �	� OZ� ��
 �
 á
���� φ� Rz,φ ��������
�� �� ����
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�


� ������ �������
�� �� �� �����
��� �� �������
�� ���

R= Rz,φRy,θRx,ψ =


1 0 0

0 Cφ −Sφ

0 Sφ Cφ



Cθ 0 Sθ

0 1 0

−Sθ 0 Cθ



1 0 1

0 Cψ −Sψ

0 Sψ Cψ



=


CφCθ CφSθSψ−SφCψ CφSθCψ+SφSψ

SφCθ SφSθSψ+CφCψ SφSθCψ−CφSψ

−Sθ CθSψ CθCψ


�
�	��


� ������ �� ������ó
 Rφ,θ,ψ ���� �� ����� �������ó
 � ��������ó
 �� ����� �����

������ �
 �é���
�� �� �� ������ó
 �������� �� ��� �	�� ���
������� ��� ������� ��

������
���� �� ������
��� � ��� ������� �� ������
���� ���������� �
� ������ó


�� á
���� φ �������� ��� �	� OZ ������� ��� �
� ������ó
 ��� á
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��� �	� ������ OV � �
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 ��� á
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 � ��������ó
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� � �� �é����� �� �
 ����� �� ��������� ���� ��

������� ������ � ��� �� ������ �� ������ó
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 �� ����� 
� ���� ���
� ��á�������
�� ��������� ���

�����
�� �� á
���� �
 �� ��� �
 ��	��� ��� ������ ����� ��� �	�� ���� ��
���� ��

��
ó��
� ������� ������� 
��
��

��� �	������ �
 ��	��� �� ���� ����� �
 ������
�� ����
 Z� Y � X� �� ������ó
 �����

�� �	� Y �� �� 90◦� �
 ���� ���� �� ������ó
 ����� �� �	� Z �� ���� ����������
��

������ ��� �� �� �������� 
� ������ó
 ����� Y �� �����ú� �����é
 ����������
���

��
 �������� �����é� �� ���� ������ó
� �� �	� X ������ �� �
���
��� ����������� ��

�	� Z �
������ ��í ���� ������ 
�	
�� ��������� ������ó
 ��������� �� ���� 
���� �	�

X ���� �� ��	��� ����� �� �	� Z �
����� � �� ������ ��������� �������
�� �� á
����

�� ������ó
 ��� ��	��� ��������� ��� �	� X� ����
�� ���� ����� �� ������
��� ��

������ 
�	
� Á
����� �� ����� ������� 
��
��

�� �� ������ 
�	
� �� �������� �� ������� 
��
� ������� ���
���

⇒ �� R= RxRyRz � �� �� ������ó
 �
 Ry ≈ π
2 �⇒ �� R= RxRyRz � Ry ≈ 0 ó Ry ≈ π �� ��� ����� �� �	� X ����� �� �	� Z�

�� ������
���� �����é
��� � ������ �� ���
��������ó


���� ��� �������� �� 3×3 ���� ��
 �� ����������� �� �������
��� �� ������ó
 �� �


������� ���� �������
��� �� ��������ó
 � �� ���������
�� �� ��� ������� �� 
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��� � �����
�
�� ��� ������� é��� �������
�� ��

������ó
 p = (px;py;pz)
T � �
 �
 ������� �������
���
�� � �� ���
������ �
 p̂ =

(wpx;wpy;wpz)
T � �� ���� ��� �� ������ �� ������ó
 p̂ �� �
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��� ��������� �


������
���� �����é
����
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����� �� �
� �������
����ó
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 ������
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 �
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��� �
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 ������ó
� ��������ó
� �������� � ���
��������ó
 �� ������������ �


��
����� �� �������
����ó
 �� �
 ������ �� ������ó
 �� N �����
�
��� ��� �


������ �� (N+ 1) �����
�
��� �� ����� �������
����ó
 �
 ������
���� �����

�é
���� 
� �������
����ó
 �� �
 ������ ������
���
�� �� ������� �
 �� �������

(N+ 1)�����
���
�� � �� ������ �í���� N�����
���
�� �� �����
� �������
�� ���

������
���� �����é
��� ��� �� ������
��� N+ 1 ��� �� w� ��í� �
 �
 �������

�������
���
��� �
 ������ �� ������ó
 p= (px;py;pz)T �� �������
�� ��� �
 ������

�������� (wpx;wpy;wpz)T � 
�� ������
���� �í����� �� �������
�
 � ��� ������
��

��� �����é
��� ���� ������

px =
wpx

w
py =

wpy

w
pz =

wpz

w


� �������
����ó
 �� ������ �
 ������
���� �����é
��� ���� �
 ������� ������

��
���
�� 
� �� ú
���� �� ��� �
 ������ �� ������ó
 p = (px,py,pz)
T � �� ����

�� �
���
��� �
 ������
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� ����
����� (xi,yi,zi)� ��
�� i = 1,2, . . . ,n �
 � 
ú���

�� �� ������ �� ���������� �á� �� ������� �� ������
���� �� �� ����� ���� �
�

����������ó
 ��������� ���
� ������
�� �
 ����� �� ��������� ���� ������� �� �����

��
���� (xi,yi,zi) ��� ����� �� �
 ����� ��������
�� � �� ����������ó
 i+1 � ���á

�	� �
 �� �����ó
 i� ���
�� �� �������� �� �� ����������ó
 ������ �� ����������ó


i� �� �����ó
 i �� �����á ��
 �������� �� �����ó
 i−1� ���� �� ������� �� �����

��
���� i−é���� ���á �	� �
 �� �����ó
 i� �� ����� 	�
�� ��
 �� �����ó
 i� ��í

����� �� ������� �� ������
���� 
�é���� �� ����� ��
 �� ������� �
�� ������ó
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�
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(x0,y0,z0)� ��� �����é
 �� �� ������� �� ������
���� �
������ ��� ������ ��í� ����

�
 ����� ���� �� ���� �� ���� �	�� ��é��� ������ 
�	��� �� ���
� ����� ��������

�� ������
����� �������
����� ��
 (x0,y0,z0),(x1,y1,z1), . . . ,(x6,y6,z6)�

���� ������� �� ������
���� �� �������
� � ��������� ����� �� ���� �� ���� �������

	�� �� �	� zi−1 ���� � �� ����� ��� �	� �� �� ����������ó
�


�� �� �	� xi �� 
����� �� �	� zi−1 � ���
�� ������ �� é��

��� �� �	� yi �������� �� ������� �� ������
���� �����ó���� ���ú
 �� ���������

�����
�� ����� ������� �
� �� ����� �� ������� �� ����������ó
 ��� ������� �� �����

��
���� 0 �
 ��������� ����� �� �� ���� �������� ���
���� ��� �� �	� z0 ���é �

�� ����� ��� �	� �� �������
�� �� �� ������� ����������ó
� �� ú����� ������� ��

������
���� ��� 
�é����� �� ����� ������� �
 ��������� ����� �� �� ��
�� ���
����

��� �� �	� xn ��� 
����� �� �	� zn−1�


� �������
����ó
 ��	 �� �
 �����ó
 �í���� ����
�� �� ������ ���á������ ����

�é������ ��������� � ���� �����ó
� ��� ��������
 ����������
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 �����á���� � �� ��������ó
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 ������
��� �
 �� ������ 
�	�� ����� ������

���á������ �� ���
�
 ���� �	��

θiθiθi �� �� á
���� �� �� ����������ó
 ��� �	� xi−1 �� �	� xi �������� ��� �	� zi−1

��������
�� �� ����� �� �� ��
� ���������

bibibi �� �� �����
��� ����� �� �����
 ��� ������� �� ������
���� ���	��é���� �����

�� �
��������ó
 ��� �	� zi−1 ��
 �� �	� xi � �� ����� ��� �	� zi−1�

aiaiai �� �� �����
��� �� ��������ó
 ����� �� �
��������ó
 ��� �	� zi−1 ��
 �� �	� xi

����� �� �����
 ��� ������� ��é���� � �� ����� ��� �	� xi �� �� �����
��� �á�

����� �
��� ��� �	�� zi−1 � zi��

αiαiαi �� �� á
���� �� ��������ó
 ��� �	� zi−1 �� �	� zi �������� ��� �	� xi ��������
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�� ����� �� �� ��
� ���������

���� �
� ����������ó
 ���������� bi ai � αi ��
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�����
���
 ��
���
��� ���� �
 ������ ���
���� ��� θi �� �� �������� ����������ó


��� ������ ���
�� �� �����
�� i �� ����� �� ����� ��
 �������� �� �����
�� i−1�

���� �
� ����������ó
 �����á����� θi ai � αi ��
 ��� ���á������ �� �� ����������ó
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���� ��������� � ���� �����ó
� ���á ������� ����� �� �
� �� ������
�� �����
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 �� �������
�� � ���������
�� ��� �������
 �������
�� �� ������� �� ������
���

��� �����
�� i ��
 �� ������� ��� �����
�� i−1� 
�� ���
���������
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 ������ó
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 ��� ������
����

�� ������ó
 ��������� ��� �	� zi−1 �
 á
���� θ

�� ��������ó
 � �� ����� �� zi−1 �
� �����
��� bi � ����é� ��� ������ bi (0,0,bi)

�� ��������ó
 � �� ����� �� xi �
� �����
��� a1 � ����é� ��� ������ ai (0,0,ai)

�� ������ó
 ��������� ��� �	� xi �
 á
���� αi
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Ai−1i =


Cθ −Sθ 0 0

Sθ Cθ 0 0

0 0 1 0

0 0 0 1




1 0 0 0

0 1 0 0

0 0 1 bi

0 0 0 1




1 0 0 ai

0 1 0 0

0 0 1 0

0 0 0 1




1 0 0 0

0 Cα −Sα 0

0 Sα Cα 0

0 0 0 1



=


Cθi −CαiSθi SαiSθi aiCθi

Sθi CαiCθi −SαiCθi aiSθi

0 Sα Cθ bi

0 0 0 1


�
�
��
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� �����
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 �ó����� �� 
������á ���� �����ó
 0 � ��

���� �	� ��� ������
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� ������� ���� ����������ó
 ����
��
�� ��� 1 ��� ��������
���
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����� �� ��������� � �����
�� �
 n�
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�	� �� ����� �� �� �����á����� ���á �� �	� � �� ����� ��� ���� �� ������� ��

�����������
���

��	 �� ���� i �� 0 � n−1 ������ �� �	� zi ����� �� �	� �� �� ����������ó
 i+ l�

��	 
� ������ �� �����
 ��� ������� �� �� ���� {S0} �
 ��������� ��
�� ��� �	� z0� 
��

�	�� x0 � y0 �� ������á
 �� ���� ��� �����
 �
 ������� �����ó���� ��
 z0�

��	 �� ���� i �� 1 � n− 1� ������ �� ������� {Si} ���������� �� �����ó
 i� �
 �� �
�

��������ó
 ��� �	� zi ��
 �� �í
�� 
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 � z(i−1) � zi� �� ����� �	��

�� �������
 �� ������í� {Si} �
 �� ��
�� �� ������ �� �����
 ��������� {Si} ��

������í� �
 �� ����������ó
 i+1�

��	 �� ������ xi �
 �� �í
�� 
����� ���ú
 � z(i−1) � zi�

��	 �� ������ yi �� ���� ��� ����� �
 ������� �����ó���� ��
 xi � zi�

��	 �� ������ �� ������� {Sn} �
 �� ������� ��� ����� �� ���� ��� zn ���
���� ��


�� �������ó
 �� z(n−1) � xn ��� 
����� � z(n−1) � zn�

��	 	�� ����
�� θi ���� �� á
���� ��� ��� ��� ����� �
 ���� � z(n−1) ���� ��� x(i−1)

� xi �����
 ����������

��	 		� ����
�� di ���� �� �����
���� ������ � �� ����� �� z(n−1)� ��� ����í� ���

��������� {S(i−1)} ���� ��� xi � x(i−1) �������
 ���
������

��	 	
� ����
�� ai ���� �� �����
��� ������ � �� ����� �� xi ���� ����� ���
�����í�

��
 x(i−1)� ��� ����í� ��� ��������� �� 
���� {S(i−1)} ���� ��� �� �����


���
������� ��
 {Si}�

��	 	�� ����
�� ai ���� �� á
���� ��� ����í� ��� ����� �
 ���
� � xi ���� �����

���
�����í� ��
 x(i−1)� ���� ��� �� 
���� {S(i−1)} ���
������� �������
�� ��


{Si}�
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�� ������� ��� ������� ��� ����� T =A01, A
1
2, ...,A

n−1
n �

��	 	�� 
� ������ T ���
� �� ����
����ó
 ���������� �� ������ó
� � ������ó
 �����
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 �� ��� n
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�������
�� ��� ���á������ ��
�����	��������� ���� �
 ����� IRB6400C �� ��

������� ����

����� 
�
� �������
����ó
 ��	 ��� ����� IRB6400C �	�

����������ó
 θi bi ai αi
	 θ1 0 0 −90


 θ2 l1 0 90

� θ3−90 0 l2 90

� θ4 −l3 0 −90


 θ5 � 0 90

� θ6 l4 0 0
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(x1,y1)+(x2,y2) = (x1+x2,y1+y2)

λ(x1,y1) = (λx1,λy2)

(x1,y1)(x2,y2) = (x1x2−y1y2,x1y2+y1x2)
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iii= (1,0,0)

jjj= (0,1,0)

kkk= (0,0,1)
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p= p0+iiip1+jjjp2+kkkp3 y q= q0+qqq= q0+iiiq1+jjjq2+kkkq3
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p= p0+iiip1+jjjp2+kkkp3

�
��
��� �� �������
�� ��� �������� ��� ������
�ó
 q ��� �� ������� c ���á ����

����

cq= cq0+iiicq1+jjjcq2+kkkcq3 �����
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i2 = j2 = k2 = ijk = −1

ij = k = −ji

jk = i = −kj

ki = −j = −ik
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p= p0+iiip1+jjjp2+kkkp3 y q= q0+qqq= q0+iiiq1+jjjq2+kkkq3

�� �������� �������� �� é���� ���

pq = (p0+iiip1+jjjp2+kkkp3)(q0+iiiq1+jjjq2+kkkq3)

= p0q0+iiip1q0+jjjp2q0+kkkp3q0

+iiip0q1+iii
2p1q1+ijijijp2q1+ikikikp3q1

+jjjp0q2+jijijip1q2+jjj
2p2q2+jkjkjkp3q2

+kkkp0q3+kikikip1q3+kjkjkjp2q3+kkk
2p3q3
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pq = p0q0+iiip1q0+jjjp2q0+kkkp3q0

+iiip0q1−p1q1+kkkp2q1−jjjp3q1

+jjjp0q2−kkkp1q2−p2q2+iiip3q2

+kkkp0q3+jjjp1q3−iiip2q3−p3q3
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pq = p0q0−(p1q1+p2q2+p3q3)

+p0(iiiq1+jjjq2+kkkq3)+q0(iiip1+jjjp2+kkkp3)

+iii(p2q3−p3q2)+jjj(p3q1−p1q3)+kkk(p1q2−p2q1)
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a= (a1,a2,a3) b= (b1,b2,b3)
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a.b= a1b1+a2b2+a3b3
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a×b=


iii jjj kkk

a1 a2 a3

b1 b2 b3


= iii(a2b3−a3b2)+jjj(a3b1−a1b3)+kkk(a1b2−a2b1)
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pq= p0q0−p ·q+p0q+q0p+q×q ���		�
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pq= r= r0+rrr= r0+iiir1+jjjr2+kkkr3
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r0 = p0q0−p1q1−p2q2−p3q3

r1 = p0q1+p1q0+p2q3−p3q2

r2 = p0q2−p1q3−p2q2+p3q1

r3 = p0q3+p1q2−p2q1+p3q0
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
r0

r1

r2

r3

=


p0 −p1 −p2 −p3

p1 p0 −p3 p2

p2 p3 p0 −p1

p3 −p2 p1 p0




q0

q1

q2

q3

 ���	��
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w= qpq∗ = (q0+qqq)(0+vvv)(q0−qqq)

=
(
2q20−1

)
vvv+2(q ·vq ·vq ·v)qqq−2q0 (qqq×vvv) ���
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ó w= qpq∗ =
(
2q20− |qqq |2

)
vvv+2(q ·vq ·vq ·v)qqq−2q0 (qqq×vvv)
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p⊗ (q⊗ s) = (p⊗q)⊗ s �����

∀p,q,s ∈ R4

��� �� �����
�� 1 = (1,0,0,0) ∈ R4 �� ��� ���� 1⊗ p = p⊗ 1,∀p ∈ R4� É��� �� ��
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 R4�
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∀p,q,s ∈ R4
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2=
(
q20,q
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2
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2
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qv = ± | q | sen
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������
�� ����������

w= qpq∗ = (q0+qqq)(0+vvv)(q0−qqq)

=
(
2q20−1

)
vvv+2(q ·vq ·vq ·v)qqq−2q0 (qqq×vvv)

w= qpq∗ =
(
2q20− |qqq |2

)
vvv+2(q ·vq ·vq ·v)qqq−2q0 (qqq×vvv)
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(
2q20−1

)
vvv =


(2q20−1) 0 0

0 (2q20−1) 0

0 0 (2q20−1)



v1

v2

v3



2(q ·vq ·vq ·v)qqq =


2q21 2q1q2 2q1q3

2q1q2 2q22 2q2q3

2q1q3 2q2q3 2q23



v1

v2

v3



2q0 (qqq×vvv) =


0 2q0q3 −2q0q2

−2q0q3 0 2q0q1

2q0q2 −2q0q1 0



v1

v2

v3


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
v′1

v′2

v′3

=


2q20−1+2q

2
1 2q1q2−2q0q3 2q1q3+2q0q2

2q1q2+2q0q3 2q20−1+2q
2
2 2q2q3−2q0q1

2q1q3−2q0q2 2q2q3+2q0q1 2q20−1+2q
2
3



v1

v2

v3


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q = cos
α

2
+kkksen

α

2

p = cos
β
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β
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r = q⊗p
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(
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α

2
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α
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β
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β
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)
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α
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β
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α
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α
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��� �� ������ó
 Lvvv� ���� �é���� �� �� ���� ���� ����
�� �� ��
��á�

���� ������� �� ��������� ����� �������
�� �� n ������ �� ���������

�
��� �� �������
�� ��� �������
�� ��� ��������
 �� ������ �������
�� ��� ��� �����

�
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��� ��
���������
��� � ���� 	�
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�� ��� ������� �� ����������ó
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��� P1 � P2� �� ����
��� �� ������ ������� ��� ��� ��
��� P2 � P3� �� ����� V2

��� ������ ��
 �����
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 q, r, s, t, u � w �
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���
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�
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����ó
 �� ���� ������
��� �ó����

P1 = P1x, P1y, P1z

P2 = P2x, P2y, P2z

P3 = P3x, P3y, P3z

P4 = P4x, P4y, P4z

P5 = P5x, P5y, P5z

P6 = P6x, P6y, P6z

� ���� ��������VVVb(t), VVV1(t), VVV2(t), VVV3(t), VVV4(t)� VVV5(t) ��� ���
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 �� ������ó
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VVVr(t) =VVV1(t)+VVV1(t)+ · · ·+VVVn(t) ���	��
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VVVr(t) =VVVB(t)+VVV1(t)+VVV2(t)+VVV3(t)+VVV4(t)+VVV5(t) ���	��
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VVV1(t) = Lv1 =QVVV1 ���	
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Q= q= cos
θ1
2
+kkksen
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2
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R = Q⊗ r

= q⊗ r ���	��

=

(
cos

θ1
2
+kkksen

θ1
2

)
⊗
(
cos

θ2
2
+jjjsen

θ2
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)
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VVV2(t) = Lv2 = RVVV2 ���	��
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��� VVV2 �� �� ������
��� ��� ������ �
��� �� ��
�� P2 � P3� ���� ��
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VVVr2 =VVVr1 +VVV2(t)
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S = R⊗ s
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)
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VVVr3 =VVVr2 +VVV3(t)
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VVVr4 =VVVr3 +VVV4(t)

���� �������
�� �� ����
����ó
 � ������ó
 ��� ���
�� �����ó
 �� �������� ���� �� ��

��
���
�� �� ����� ������á���� � ����
�� ��� �������
�� ������
���� ���� �� ������ó
 ��



���í���� �� �������� �í� ������
��
�� �


�� ���� �ó����

U = S⊗u
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θ3
2
+jjjsen

θ3
2

)
⊗
(
cos

θ4
2
+iiisen

θ4
2

)
⊗ . . .

· · ·⊗
(
cos

θ5
2
+jjjsen

θ5
2

)

�� �����
��� ��������� �� ������
�ó
 �� ������ó
 u ��
�

u= cos
θ5
2
+jjjsen

θ5
2

� �� ������� �������� �� ����� ��� �� �	� �� ������ó
 ���� �� ������
�ó
 u �� Y � �


á
���� θ5� 
� ������ó
 �� �������� ��

VVV5(t) = Lv5 = TVVV5 ���
��

��� �� ��
�� �� ������ó
 ��
 �������� � �� ������
��� ������� ���

VVVr5 =VVVr4 +VVV5(t)

���� �� ����� �����ó
 ���������� �� ����� ����������
�� ��� �� ��� �� ������ �� ������

������
�ó
 �� ���� w � �� ������� � �������
�� �� ����
����ó
 ��
 �������� �� �������

������ �� ������
���� ��� �� ��� ���� �� ������ó
 �� �� ���� �ó��� �� ���
��

W = U⊗w

= q⊗ r⊗ s⊗ t⊗u⊗w ���

�

=

(
cos

θ1
2
+kkksen

θ1
2

)
⊗
(
cos

θ2
2
+jjjsen

θ2
2

)
⊗ . . .

· · ·⊗
(
cos

θ3
2
+jjjsen

θ3
2

)
⊗
(
cos

θ4
2
+iiisen

θ4
2

)
⊗ . . .

· · ·⊗
(
cos

θ5
2
+jjjsen

θ5
2

)
⊗
(
cos

θ6
2
+iiisen

θ6
2

)
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��� ��������� �� ������
�ó
 �� ������ó
 w ��
�

w= cos
θ6
2
+iiisen

θ6
2

�� ������� �������� ��� �� �	� �� ������ó
 ���� �� ������
�ó
 w �� X � �
 á
���� θ6� ��

���� �������
�� �� ����
����ó
 ��� ������� �
�� ��� ������

����� �� ����������� ��� ������� ����
���� �� ��� �������
�� ��������� �
 �� ������ó
 ��	��

VVVr(t) =VVVB(t)+VVV1(t)+VVV2(t)+VVV3(t)+VVV4(t)+VVV5(t)
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 ��
 �������� � �� ������
��� ������ �	��

��
��� ������ó
 �� �� ��
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���� ��� ������ó
 �� �������� ��
��á���� ������� �� ������
 ��� �������
�� ��	� � ��

�

��� ������ ���
�
 �� ����
����ó
 � ������ó
 ��� ������� �
�� � �� ������� ����������� ��

����� ����ó���� ���� �
� ��
��ó
 �� ��� �����������
��� �� �
������� �� ��� 	�
���

�������
����� ���� �������� ���� ���������� �� ����� ��� ���
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 �� ��
��á���� ������� �� �����
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 � �� ����
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 �
 ��
��ó
 �� ��� ���á������ �� ��� ������
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q, r, s, t, u � w� ��������� � ��� 	�
��� �������
���� ���� �� ��� �� ������� �� ���������

���������� �
 ���
��r� ��� �� ����� �������� �
 �� ���
���� ��

�� ����� �������� ���� �� �������
 ��� �����
���� �
��� ���� 	�
�� ��� ������ � ��� ����
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�� ��������� � ���� ���� �ó���� ���� ���� �
á����� �� ����
 ��� ���á����� ���

������ �� ��	� �� ����� ��� ����� 
��	���� ��� ������ �����
 ��� ����������� �
 ��

������ 3D �����é
 ������ �� ������� ��� �
���

�
 �� �ó���� ��� �������� �� ����� ��������� ��� �� �������� �
��� ������
��
�� ���
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��� �
 �� ������ó
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Qpro � ��� �������
�� �� ���� ��
�� ���������� ���� �� �������� �������
�� ���
���

�
 �� ������ó
 ��	
 �� �������
 ���� Qrot � �� �
� ����� �������� ������� ��������

��� ���� �
� �� ��� �������
�� ��������
��
 � ��� �������
�� ��	
 . . . ��

� �����
��

� �� �������
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 ��� ��
�� �
�� �� �� ����
� ��
��á����� ��
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�� �� ����
����ó
 �
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���
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 ��� ������ ������ �
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���ó
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 ���� ����������ó
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����� ��	� �������
����ó
 ��
�����	����
���� ��� ����� IRB1600 �
��

����������ó
 θi di ai αi
	 θ1 d1 a1 −π

2


 θ2 0 a2 0

� θ3 0 0 π
2

� θ4 d4 0 −π
2


 θ5 0 0 π
2

� θ6 d6 0 0

�����á����� �� ����� ���
�������� ���� ����� 
���� �� ��������� ����� ������� �


����� ��
� �������
����ó
 ��� ������ �������
�� ������ �
 ������
��
�� ��� ����� IRB1600�

������
�ó
 �� ������ó
 ������ � ��� ������

Q=
[
cosθ12 0 0 senθ12

]
V1

R=
[
cosθ22 senθ22 0 0

]
V2

S=
[
cosθ32 senθ32 0 0

]
V3

T =
[
cosθ42 0 senθ42 0

]
V4

U=
[
cosθ52 senθ52 0 0

]
V5

R=
[
cosθ22 0 senθ22 0

]
V6

���
��r �� ������� �������� ��
 ��	�� ������� �� ��������
 �� �������� �����������


���� ������ ���
�� �� ������� �� ������ �������
�� ������ �
 ������
��
�� ���������
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 �� ������ ��
��
���
�� ������ �
 �� ��
��
���
 ��
�����	����
����� �����
��

���
��r �� ����� ����
�� �
 �
����� �� ��� �������� ����������
���� ������ ����

���� �
� �� ��� ������� �� ���� �� ������� �������� �
 �� ���
���� ��

��
��� ������ó
 ��
��á���� �
�����

�� ��� �������
�� ����
���� ��� ������ �������
�� �� ���� �
� �� ��� 	�
��� �ó�����

� �� ������ �� ������ó
 VVVr(t)� �� �����
� �
 ������ó
 �
��� �� �������
�� � ��� ����

��������
��� �
������� �� ��� �
��
�� � 	�
���� ��� ������ ���������
�
� �� ����
����ó


� ������ó
 �������
�� ��� ������� �
��� �� ��������� ��� ������� �� ��� �����������
���

�
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���
����� �� ����� �������
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�� �������� �� �� ��
��á���� �
����� ������� �� ������ �� �����
�� �����
�� �
 �
� ���

����ó
 � ����
����ó
 ����������
���� 
�� �������
�� ��� �� ������
��
 �� �� ������ó
(
VVVr(t) = [Vrx ,Vry ,Vrz]

)
� ��� �������
�� ��� �� �����
�
 �� �� ����
����ó
 �����
����ó


=W = q⊗ r⊗ s⊗ t⊗u⊗w) ����
 ���������� ���� ����
�� ��� ������
��
�� ��� ������

��
�
 �� �����������
�� �
����� �� ���� �
� �� ��� 	�
���� ���� �� ������ó
 � ����
�

����ó
 ��� ������� �
��� �
� ��� �������� �� ������ó
 ��
��á����� �� ����á �������� ��

�������
�� �������� �� �� ��������
�� ���������
�� ���� �
� �� ��� ������� ����
����

�����
�� �� �é���� �� ������ó
 �
��é����� ����é������ ����ó����� ���� ��

�
 �� �������� ��
��á���� ������� �� �����
� �
� ������ó
 ú
��� ���� �
 �������
���

��
	�
�� �� ������
��
�� �
 ��� 	�
���� �� �������� �� �� ��
��á���� �
����� �� �á�

������	� �
 �� ��
���� �� ��� �����
 ������� �
 ��
	�
�� �� �������
�� ���� �
� �����

������ó
 �� �� ��������
��� 
������
��� ���� �
� �������
��� ���������� �� ������ �

����� �
 ��
�� �� �������
�� � ����
�����
�� �� �� ��������
��� ����� 
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��ó
 ���� �� �������� ��
��á���� �
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���� �������� �� �������� ��
��á���� ��� 
��	��� � ��������� �� ��
���
����
�� ��

������ �������
�� �������� �
 �� �����ó
 ��
�
 �� ���á ��� ��� �é����� ����é������ �

�� ��������� ��
��á���� �� ���á �� �
á����� �� ���� ��������� �� ����������
�� �
 �í ��

���� �
 �
��
���� �� ������
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����� �� �������
�� ����é������ �
 ��� ��� �
�����
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���� ����������� � ��� ����
���
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�����
�� �� ������
�� ����������
�� �� ������á
 ��� �������
�� ��������
���
��� ���� ��

�á����� �� ��� ��������� ��� �������
�
 �� ������ó
 �� ��� ���� �������� �����������
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��� ������ ��
��
�� �
 ���
�� �� ��
�� ��� �����á ����
��� �� ������� �
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Vrx ,Vry ,Vrz
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�
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� ��
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 � ���� ���������
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d4 = d7cosθ5 ���
��

dz = d7sinθ5sin(270+θ4) ���
��

dx = d7sinθ5cos(270+θ4) ���
��

d6 =
√
x2+y2 ���
��

φ = atan

(
dz

d6

)
������

ψ = atan

(
dx

d5

)
����	�

ϑ = atan
(y
x

)
����
�

d5 = d2+d3+d4 ������

L4 =
d5
cosφ
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�

θ1 = ϑ−ψ ����
�
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Lxyb =
√
x2+y2−d2x−d1 ������

ε = atan

(
z−(L1+L2)

Lxyb

)
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L3,L4 � C ��� ���� ������� �������
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C =
√

(z−(L1+L2))2+L
2
xyb ������

s =
L3+L4+C

2
������

r =

√
(s−L3)(s−L4)(s−C)

s
������
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IRB 1600
The highest performance 10 kg robot.

Robotics

Performance is often a trade off, 
optimizing for speed or accuracy. With 
ABB’s IRB 1600, you don’t have to 
choose. The robot’s cycle times are 
shorter, sometimes half that of other 
robots, allowing you to increase 
throughput. Meanwhile, you will enjoy 
the work piece quality that only an ABB 
robot can offer. Extra everything.

Double your throughput
The IRB 1600 has up to 50 percent shorter cycle times than 
competing robots in material handling, machine tending and 
process applications. It speeds up and slows down faster 
than other robots, saving time while moving between tasks. 
This is possible due to ABB’s patented second generation 
QuickMove motion control, combined with the robot’s strong 
motors and low friction losses in the spur gears.

No more cutting corners 
At high speed, most robots will cut corners. With the IRB 
1600, the path will be the same regardless of speed, thanks 
to the robot’s unique combination of brains and brawn.
Intelligent second generation TrueMove motion control means 
that ”what-you-program-is-what-you-get”. Add muscle – a 
heavy and stiff design – low vibrations and low friction – and 
you have a robot that will deliver consistently high work piece 
quality, high yield and few rejects.

Outstanding reliability
The IRB 1600 offers outstanding reliability, even in the tough-
est environments and the most demanding 24/7 duty cycles. 
The entire manipulator is IP 54 classed and sensitive parts are 
IP 67 classed as standard. The optional protection Foundry 
Plus offers IP 67, special paint, rust protection and is tailor 
made for tough foundry environments. The rigid and heavy 
design combined with spur gears, make the robot extremely 
robust. Smart collision detection software further adds to the 
robot’s outstanding reliability.

Easy to integrate
Mounting is fully flexible: on a shelf, on the wall, tilted or 
inverted. By choosing the compact short-arm version with the 
1.2 m reach, you can even fit the IRB 1600 inside a machine, 
while ensuring sufficient payload as the maximum total load is 
as high as 36 kg.

Sustainable and healthy
Low friction spur gears, and no unnecessary moves due 
to QuickMove and TrueMove, reduces power consumption 
down to 0.58 kW at max speed, and even less at low speeds. 
The airborne noise level of just <70 dB (A) secures a healthy 
sound environment.
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IRB 1600

Main applications

Machine tending, material handling, arc welding, cutting, dispensing,  

assembly, palletizing and packaging, measuring, die casting, injection 

moulding

Specification

Variants 	 Reach(m)	 Payload(kg)	 Armload(kg)

IRB 1600-6/1.2	 1.2	 6	 30,5

IRB 1600-6/1.45	 1.45	 6	 30,5

IRB 1600-10/1.2	 1.2	 10	 20,5

IRB 1600-10/1.45	 1.45	 10	 20,5

Number of axes	 6+3 external (up to 36 with MultiMove)

Protection	 Standard IP54; opt. FoundryPlus 2 (IP 67)

Mounting	 Floor, wall, shelf, tilted, inverted

IRC5 Controller variants 	 Single cabinet, Dual cabinet, Compact

Physical

Dimensions robot  base:		  484 x 648

Robot height: IRB 1600-6/1.2 and IRB 1600-10/1.2	 1069 mm

Robot height: IRB 1600-6/1.45 and IRB 1600-10/1.45	 1294 mm

Robot weight:		  250 kg

Performance (according to ISO 9283)

	 6/1.2	 6/1.45	 10/1.2	 10/1.45

Pos. repeatability (RP)	 0.02 mm	 0.02 mm	 0.02 mm	 0.05 mm

Path repeatability (RT)	 0.13 mm	 0.19 mm	 0.06 mm	 0.13 mm

Movement

Working range	 1.2	 1.45

Axis 1	 +180° to -180°	 +180° to -180°

Axis 2	 +136° to -63°	 +150° to -90°

Axis 3	 +55° to -235°	 +65° to -245°

Axis 4	 +200° to -200° def.	 +200° to -200° def.

		  +/-190° revolution	 +/-190° revolution

Axis 5	 +115° to -115°	 +115° to -115°

Axis 6	 +400° to -400° def.	 +400° to -400° def.

		  +/-288 revolution	 +/-288 revolution

Maximum Speed	 6 kg	 10 kg

Axis 1	 150°/s	 180°/s

Axis 2	 160°/s	 180°/s

Axis 3	 170°/s	 185°/s

Axis 4	 320°/s	 385°/s

Axis 5	 400°/s	 400°/s

Axis 6	 460°/s	 460°/s	

Electrical connections

Supply voltage	 200-600 V, 50-60 Hz

Power consumption	 ISO-Cube at max speed 0.58 kW

Environment

Ambient temperature for mechanical unit:	

During operation	 + 5°C (41°F) to + 45°C (113°F)

During transportation and storage	 - 25°C (- 13°F) to + 55°C (131°F)

For short periods (max 24h)	 up to + 70°C (158°F)

Relative humidity	 Max. 95% at constant temperature

Safety	 Double circiuts with supervisions, 	

		  emergency stops and safety func-	

		  tions, 3-position enable device

Emission	 EMC/EMI shielded

Data and dimensions may be changed without notice

IRB 1600 / 1.45

1786

720

114

1150 1450

1002

IRB 1600 / 1.2

455

873 1225

730

1561

Working range

IRB 1600-x/1.2

IRB 1600-x/1.45
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This is information on a product in full production. 
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L3GD20

MEMS motion sensor:

 three-axis digital output gyroscope

Datasheet - production data

Features
• Three selectable full scales (250/500/2000 

dps)

• I
2
C/SPI digital output interface

• 16 bit-rate value data output

• 8-bit temperature data output

• Two digital output lines (interrupt and data 

ready)

• Integrated low- and high-pass filters with user-

selectable bandwidth

• Wide supply voltage: 2.4 V to 3.6 V

• Low voltage-compatible IOs (1.8 V)

• Embedded power-down and sleep mode

• Embedded temperature sensor

• Embedded FIFO

• High shock survivability

• Extended operating temperature range (-40 °C 

to +85 °C)

• ECOPACK
®

 RoHS and “Green” compliant 

Applications
• Gaming and virtual reality input devices

• Motion control with MMI (man-machine 

interface)

• GPS navigation systems

• Appliances and robotics

Description
The L3GD20 is a low-power three-axis angular 

rate sensor.

It includes a sensing element and an IC interface 

capable of providing the measured angular rate to 

the external world through a digital interface 

(I
2
C/SPI).

The sensing element is manufactured using a 

dedicated micro-machining process developed by 

STMicroelectronics to produce inertial sensors 

and actuators on silicon wafers.

The IC interface is manufactured using a CMOS 

process that allows a high level of integration to 

design a dedicated circuit which is trimmed to 

better match the sensing element characteristics. 

The L3GD20 has a full scale of ±250/±500/ ±2000 

dps and is capable of measuring rates with a 

user-selectable bandwidth.

The L3GD20 is available in a plastic land grid 

array (LGA) package and can operate within a 

temperature range of -40 °C to +85 °C.

LGA-16 (4x4x1 mm)  

Table 1. Device summary

Order code Temperature range (°C) Package Packing

L3GD20 -40 to +85 LGA-16 (4x4x1 mm) Tray

L3GD20TR -40 to +85 LGA-16 (4x4x1 mm) Tape and reel

www.st.com



Preliminary data

This is preliminary information on a new product now in development or undergoing evaluation. Details are subject to 
change without notice.

April 2011 Doc ID 018771 Rev 1 1/42
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LSM303DLHC
Ultra compact high performance e-compass

3D accelerometer and 3D magnetometer module

Features
■ 3 magnetic field channels and 3 acceleration 

channels

■ From ±1.3 to ±8.1 gauss magnetic field full-
scale

■ ±2g/±4g/±8g/±16g selectable full-scale

■ 16 bit data output

■ I2C serial interface

■ Analog supply voltage 2.16 V to 3.6 V

■ Power-down mode/ low-power mode

■ 2 independent programmable interrupt 
generators for free-fall and motion detection

■ Embedded temperature sensor

■ Embedded FIFO

■ 6D/4D orientation detection

■ ECOPACK® RoHS and “Green” compliant

Applications
■ Compensated compass

■ Map rotation

■ Position detection

■ Motion-activated functions

■ Free-fall detection

■ Click/double click recognition

■ Pedometer

■ Intelligent power-saving for handheld devices

■ Display orientation

■ Gaming and virtual reality input devices

■ Impact recognition and logging

■ Vibration monitoring and compensation

Description
The LSM303DLHC is a system-in-package 
featuring a 3D digital linear acceleration sensor 
and a 3D digital magnetic sensor.

LSM303DLHC has linear acceleration full-scales 
of ±2g / ±4g / ±8g / ±16g and a magnetic field full-
scale of ±1.3 / ±1.9 / ±2.5 / ±4.0 / ±4.7 / ±5.6 / 
±8.1 gauss. All full-scales available are fully 
selectable by the user.

LSM303DLHC includes an I2C serial bus interface 
that supports standard and fast mode 100 kHz 
and 400kHz. The system can be configured to 
generate interrupt signals by inertial wake-
up/free-fall events as well as by the position of the 
device itself. Thresholds and timing of interrupt 
generators are programmable by the end user on 
the fly. Magnetic and accelerometer parts can be 
enabled or put into power-down mode separately.

The LSM303DLHC is available in a plastic land 
grid array package (LGA) and is guaranteed to 
operate over an extended temperature range from 
-40 °C to +85 °C.

LGA-14 (3x5x1mm) 

Table 1. Device summary

Part number Temperature range [°C] Package Packing

LSM303DLHC -40 to +85 LGA-14 Tray

LSM303DLHCTR -40 to +85 LGA-14 Tape and reel

www.st.com
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